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DopMYyJIbI CI0KEHUSA

sin (0 + f3) = sin 0. cos B + cos  sin f | f tgo+tgp
i 'tg(aJrB):l-tgath
sin (0! = B) = sin 0 cos P - cos o sin p . o B
| cos (0u-+ P) = cos 0 cos p — sin  sin p tga-tgp
s o on s gl BT gatgp
cos (0. = P) = cos 0. cos P + sin o; sin p




Nel YnpocTure BhIpaxeHue:

1) cos 60 cos 200 — sin 60 sin 20

2) sin 12° cos 18° + sin  18° cos 12°;

3) sin (—15°) cos 75° + cos 15° sin 75°;

4) cos (o0 + B) cos (o0 — B) + sin (a0 + B) sin (o0 — B);

cos 64° cos 4° + sin 64° sin 4°
sin 19° cos 41° +sin 41° cos 19°°

6) cos (a0 — ) — 2 sin o sin P.

o)




No2 YrnpocTurh:

tg13°+ tg 47° 1-tg 27°tg 33°
1) 1-tg13°tg 47°’ 3) §g27°+ g 33° ’

No3

1 . 3 T
Hano: tga=~§, SmB-’:g’ 0<B<E- Haiitn:  tg (o + B).




Ne5
YIIPOCTUTE BHIPAKEHHUE:

1)sin (@ - PB) -sin (e +B);  3) \[ésin(%+a)—-cosa—sin(x.
2) sin (30° — o) + cos (60° — a);

Ne6
JloKaKuTe TOKIAECTBO:
1) sin (o0 + ) —sin B cos o _1:
sin (o — )+ sin P cos o

\/;..cosa—Zsin(45°-oc) _\/—
2) =V2;
2 sin (60°+a)—\/—3_cosoc




CamocTosTeIbHasI padora

B-1 B-2
L. Y NnpocTHUTE Bbipa>€HHE: YnpocTUTE BblpPaXKEeHUE!
1) cos(a — B) + cos(a + P3) ; 1) sin(oe +B) +sin(a —B);
2. Ynpocture BbipaxeHHe: YnpocTute BblpaxeHHe:
1) sm@cos3p+cos@sin3Q; 1) cos6acosda - sin 6a sin 4o ;
2) cos64° cos 34° + sin 64°sin 34° 2) sin14°cos31°+cos14°sin31°;
3. [Tonmb3ysach GopMy1aMH CIIOXKEHHUA, [lonb3yach hopmynamu CnoxeHu,
naiiaute: 1) sin 15°; HailauTe: 1) cos75°;
4 JIOKaXHTe TOXeCTBO: - JIOKaXHTe TOXECTBO:
sin(45° + o) - cos(45° + a) sin(o +B) +sin(oe - )
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